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1. Phonology (20%, to be answered in English)

Consider the following data set from Ilokano (a language spoken in Philippines):

Stem Progressive Gloss
a. [basa] [basbasa] ‘be reading’
b. [takder] [taktakder] ‘be standing’
¢. [sansanit] [sansanit] ‘be crying’
d. [taray] [tartaray] ‘be running’

(1) What is the progressive morpheme from (a-d)? (2%)

(2) Propose an underlying representation for the progressive morpheme in Ilokano. (4%)

Consider the additional data from [lokano:

Stem Progressive Gloss
e. [adal] [adadal]} ‘be studying’
f. [trabaho] [trabtrabaho] ‘be working’
g. [lwado] [lwadlwado] ‘be praying’

(3) What is the progressive morpheme in (e-g)? (2%)

(4) Are these forms consistent with your proposal in Question 27 If yes, explain how they fit. If
not, propose another underlying representation that can account for all the data (a-g). (4%)

(5) Propose an analysis to account for the differences in Ilokano progressive morpheme. (8%)

IL. Phonetics (20%, both Mandarin and English answers are acceptable)

(1) “LINE” is a very popular smart phone app. Please use IPA to transcribe the word and
describe how majority of the Mandarin speakers mispronounce the word. (10%)

(2) Writing system and sound. Please briefly state the discrepancy between spelling and sounds
in English. Does this discrepancy occur in Mandarin Bopomofo (3 F5%) and sounds? If yes,
please give some examples. (10%)
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IT1. Syntax and semantics: word order in Mandarin Chinese (15%, both Mandarin and
English answers are acceptable)

There are some preferred orders of saying Mandarin Chinese, as illustrated below.

(1) Please name one cognitive-semantic principle that may explain the word order in Mandarin
Chinese:

/NEREE/NEE S
NREL/NEEBTONT

i EAERE
? fihE R AR

FREIMRE 1L
?BAREEEEIE

AR B R
? BT

(2) Consider the following sentences then. Do they violate the principle you named or is there
another principle that can explain the different orders as illustrated below? What is the principle?
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IV. FARE | WERSIRR (15%, RZE TR EE)
sRntom LA T HYEIRE - AL (e TR -
SRR -

g (1) FPEEEEHALE (ambiguity) FIIRSR - MEY - 9FF THEHZT L R
"HEZ T AR ) WITEARCE -

(1) HIZT -

BRI (2) HTEEEUES A RENIEIE -
(2) The chicken eats.

R REEEN RS R SR ERTE ?

A%

R EE T RIGE—RFEEA (syntax) L EFE (subject) HYRES: » FTEAGIA) (2) K
Bl (1) —HREREARS -

EifE © ST I RSHE RS T EREVEE -

V. AiEEE - REEAE 15%, AT AR EE)

o AR EENYL  EEaE ERNENGEETFRARE  DFERE - TiER
BB R RRVE SR RET AN STER - SHASTHERABEAFRE  Lflg
(1) BIALESERRABETRA }’IWU’U(TZ)

(1) If T were you, [ would not go.

(2) If you had been there, you would have done the same thing.

B REBEENFREFRNMERE A - FBRRAS RPN EENETEE -
XERER EDJZE$‘ER§'<%ETE@$E$E§H%?




B i AR 103 25 KA THELENERA
D o (6042) 21034528148 48

AR MBS L ASEXERETEREE 4%z g 4a xS &7

[FRTRmATEm] *FERTAuHRAE  ZEERERBF BN REALT AT ] |

VL. AiAmRE  BaE [E) WER 5%, 8T Ld S ER)

EEEDR T, BT, o BNSEEPWcan » BEFARNTEEFIERD - WHIE
(1)-QFfm -

(la) fiilAEER 52
(1b) &R BE:E

(2a) KFZIEHERL
(2b) ARt ERE

£l

MIRE— : AERE T, ERTREIEEE L - B T, AEE EVER  BIE T,
FE-OH7 a AP ETER - B Tg, FURG)PERER - GE: o) FRfER Y &
TETER - A EIFE) %)

(3a) IBEUKEE - RERTERZEY)
(3b) EHKES - FRERZEY

(4e) IEHEAY 1B - REMVEEGUICRESHER
(4b) *EHEA T - (REMAVER IS EEEER

(5a) ZNHAARIFEEARTT A
(Sby */NHARBIFEAITA
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FON R T . R FREEEEROA T WEOTPE TEEEKA, -
©) ERGIRA » B
{HFE(a) ~ (82) ~ Cayay » T, FAIfER -

(72) *fGH U EH

(7b) 1o G E EEH

(Ba) *FNG R EBHIHE
(8b) RIRUK BEEE BRI

(9a) *E RIH SRR
(Ob) EAATEEREZIE ?

MRE 3R TE ., EREAENL - BERE ? (%)

IRE=  SHEERERE - (Tb) ~ (8b) ~ OLYFOHFENEERYE » FEEFaFrERT) ~ (8a) -
(%a) » HERK B EBIATY =) 2 3%)

FEREPD : I —5347 - Q0T ATAL - SARTEE YT - BE nT S EARRE()-O) 2 HE1D ? EE
SRR 7 (5%)
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